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Aufgabe 30a 
O = (pi * r * s) + (r * 2 * pi* hz) + (r² * pi) 
O = (pi * r * s) + (r * 2 * pi * hz) + (r² * pi) 
664 = (3,14159265359 * r * 9,2) + (r * 2 * 3,14159265359 * 10) + (r² * 3,14159265359) 
Gleichung nach r auflösen 
r = 6,003829 cm 
--- 
hk = Wurzel(s² - r²) 
hk = Wurzel(9,2^2 - 6,003829^2) 
hk = 6,970942 cm 
--- 
Volumen berechnen 
Volumen V1 Zylinder berechnen 
V1 = r² * pi * hz 
V1 = 6,003829^2 * pi() * 10 
V1 = 1132,4173 cm³ 
--- 
Volumen V2 Kegel berechnen 
V2 = 1/3 * PI * r² * hk 
V2 = 1/3 * PI() * 6,003829^2 * 6,970942 
V2 = 263,1338 cm³ 
--- 
Volumen V Gesamtkörper 
V = V1 - V2 
V = 1132,4173 - 263,1338 
V = 869,2835 cm³ 
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